SAHIWAL __ T

Roll No. __ . , (To be filled in by the candidalc)
Mayimun Marks: 20 (OBJECTIVE TYPE) Time Allowed : 30 Minutes

MOTE Four possibie answers A, B, C and D to each question are given. The choice which you think is
carrect. fill thai circle in froni of that guestion with Marker or Pen ink. Cutling or lilling two ot

= more circles will resull in zero mark in that guestion.

ai. - 20

n! _
1 t‘;“;‘,‘, is always equal to,
(A Mp, i R(BY “_c[ '
{0) 'py (D) e,

r MR | Ihx. /b and lic are in G.P.then common muin is: cqua{,to. 4

<
{A) lV

(C) \,’u‘}"-('

“') %241
5. {fa—2 is 4 factor of polynomial ¥* 4 25+ kx + 4 then k equals: )
(A) 10 (B) -0
(C)2 " (M4
0. The sum of all cube roots of unity equals: '
1AL ] {B)w
() 0 (D) o?

1 2 3x
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7., Let A =h§ : g: ! them 1A] is equal to:
(A (B) 3
() 2 " ADYD
8. If A is a squdre matrix and A' = A, then A is called,
{A) hermitian matrix © (B) skew hermitian matrix
(C) sy mméiric matrix | (D) skew symmetric matrix

9, H'p'isa logical statement then | b 1’ is aiwa\'v

A} absurdity iy canhngcnm e
(O wtologey 4pJ] cnndmona},__ Y ]
10, I ex+ iy J'=u+ it then x*— y2 equals: 3
(A)a® W :
(Cya-b ; W e (L ;
1. Period of Cm)xzaiscqugn!tng‘f 5 = : ;
(ANRE 4 4 - {B)4m,
(Cy = ' : fD):H’
12. A coin is tassed twice then pro!mhlhty oﬁgctﬁpgmll hwds equal:
(A} 172
(Cr 144
2 2B

13. S:i—t;i; 3 f\lllﬂ ﬁlny iS (‘alled
{A) Sinelaw
(Cy Tangent law

14, 1ra.band v nre angles of irlangle ABC, RitH
{A) Sin o
tC) Sit

15, Inan 4
() i

7
]

16, Sin! | AVT=B + BJI-A" | is equal 0

&) Cos™" A + Cos™ (B) | Cos 'A Cos" R
() Sin ' A Sin ' B {D’} Sm A A Sin 'B
‘t—-_ -
17. The selution of Sin x = —«——2:1 in interval |0,27t] equals. " i 1
: SR Y '
4n 2 * ikt L !

(A 37757 (B) R o B sk
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1H.

19,

0w :: :;1. " .&‘_,_ %xﬁ‘}l:ﬂ’\j‘“%{. ;
: | 4 i:’ i S
Second term in tiw ¢ \pansmn of l\ N g,) ~equals: ;
By LR (By 10x°3
(C) 1o (D) 551
It the number of terms in the expansion of (a + b)Y is 16 then *n’ equals.
(A) 13 M) 16
(17 ()15
Length ' of an arc of a cirele with radius r and central angle © is equal to;
EAY el (B) ¥
TONIIE (1 -~! *H
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Rott Noo o | (Tu bcﬁﬂ:d in by the candiilg ) %
Maximum Marks: 80 . : ﬁﬁs ;}}gfi‘ {{pﬁ"’i‘iﬁ!e A!iowcd :2.30) Hours
2 38 L 34

02. Attempt any eight parls.’ _ “'{

Q3.

-

{16)

(0 Prové fhat “i*rt-g

bl -1
= ! . 3
(1) Sepuraie 355 into real und imagimary parts.
i

(i) 4r Wi, 2: €0 prove thin 2, * 2y T 2 T2z

(iv) Show A-B-and B-A by Venn diggram when A and B.are overlapping sets,

(v) Shew thatthe statement ~(p “*"Q).-%'P.is:ilamoldgy.

(i) T n}d the inverse of the ulm”.m {(\ VLY =2x+ 3,x (] Ny,

‘ . | ‘ 22D il '
i) Solve thematrix equation 3X - 2A =B, 1f A "[-i T ] and B =.[2 Al ]

i [ 2l ) o
vl ir A Bl and A° = 05 sfind the values of aar_;cl'-b.

{ix) Define co-lacior ofan clement of a matrix.

‘(ﬁ")' Sni?eh cumpiéiing squure. K* - In ~ 648= 0

AN ’bnlvethu equatipn: X35+ 8=6x""

XY Shnw thatix? - ¥= (\ y) {x = wy) (x - m-}) where t is the cube root of nity
*Attemplany mgm paﬂs ' | g S i (16)

(i) Rgsalm: _*l into partial Irncuun.‘ .

v I 1 a
(i) "‘)E : are in Cu P, whms that common ratiois £y e

(i) Which s;:rm—_ofA.P 5.._.-1. ......... ,..-isyss;.'é;;i;-,_ fg 4 §
i " R
-

e R
(1v) Dx_ﬂnc G M bctwegg %ﬁ‘g@% how thul {{.‘1 M) gtﬂmemc quean =+ Jab .

in 1’ ,xs-'—'—"- L
K show‘that Dy

{vi): II‘,u -2 -8, find Gand H also show that'G < H for [G <0y wiuz usual numluon.
(vii) Provethat"P, =0’ '.P. , » Where p ts,p&.m\_md{wn,

(viii} How many necklaces can be made from 6 beads of different.colours?

(iny How many triangles can be formed by joining the vertices of polygon having 8 sides?
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Show that 3 + 2« d« =23 "= 2" s igrrue forn=4 .3

(via Show that n° - s divisible by 2 forn = 2, 3,

i1y Lapand (2 - 350 ' up 1o three ternms.

temp! any ning pars. B SRS (18}

W' 3-tna/o
T+ tanw enn/ 6

LY

p o Bvaluate

(i) Find the value of 0, satislying the equation 3 1an® U + 233 4an'0 < | =0,
PART -1l
Note:  Attempt any THREE questions. ' . .
Q5. {(a) Convert 'f VBAC) = (AUB) (A CC) 1o logical form and prove by constructing truth

as.

a7.

Cost-Siny 'Legfj 1

CosU+Sin  CoB~|

w1 =Sind) )
e e o) 1ot = oInu)

(1) Prove that (CosU - ten) T simd

vy By using fundamental iz of tngoneometry, show that Sinf=2 « w) = Cosa

f1i)  Prove that

!
(v Prove that Sin45° + «) = 75 (Sing - COSeL)
Vo

(vi) Find the period of Cor 8
fvii) Find the value of CosZa for Cosw = 3/5 where Osa<mi2, : ‘)

(Vili)IF B = 60° ,y = 15¢ . b= 6 then find ¢ and a for un) lrlungleABC

’E t,v % ‘.
(ix) Find the aren of triangle, given two sides and their ‘intluded. angl ai‘*%ﬁf& b =925,

.a?, ]
= gﬁﬂ 4__1 g TR i L ‘ .‘
r}ﬁ%i. g WL

(x)  Show thatr, =s.|an

'l-rh::

e
{x) Find: thc value uf‘{hépépfdsslmz ,:St‘.‘t: {tan =1y

—_——

p.p) §' md 1}1& nsolununs of sinx = ~J% in [(,2x].

table. 5
(b) Use cramer's rule to solve the system; € 5
2 =X+ xy=8 )
, x,+2xa+21, =6
; 2"2 -*X,, —.1 :
(a8} Prove lhat Lm—"b'—:—-g-}- =1 wﬂl huve equal rools, if 2= a2 m? + b2 5
X+ 2x42 ‘ Lol
(b Resolve into partial fraction: uzi x-:‘il ) }""5,=
{a) Find ihe sum of an infinite series r+{1+k)y? + (1+k+kQr2 + ...... B .’wT‘ 5

213
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8. (a)

(b)
Qg Ja)

(b)

f‘l"i‘ X) !' e ¥
Fing tihe co-ellicient of xu in the exnansmﬁ nl ;IT ) Bl L & 5
{anii +secH -1 y

Prove thal fang=igegd ¥ 1 “’!“” o, e B
Reduc® sin“ﬂ to an axprass!un mvolvinu only function of mulliples uf9 ralsed to the first power. 5
Prove #hal ~be(sin o + sin B + sin y) = 4As using usual natalmns. : et 5

s sin B s L kg 088 ~
Prove thal SU '3 +8in gy =Cos™ 550, 5

3/



